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Unit 2B Review Period
/.Find the slope of the line through each pair of points.
- 1) (~14, 5), (12, -20) 23 2) (-14,-9), (12, 12) B
’ 1 — el
"l -6 _ 1k

3) (-6,1),(12,8) — 4) (16,-3), (-11,-19) == = 5=

) 6,028 = ) (16,3), 11,-19) = = 75

5) (-12,4),(=6,-17) 2\ L 6) (~16,8),(-15,7) '.'_l\_ ==\
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Werite the equation of each line. Choose slope intercept or point slope form based on the given
information.
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7) Slope =13—0, y-intercept = 5 8) Slope =2, y-intercept

\O il - .
~9) Slope =4, y-intercept=—4 10) Slope =6, y-intercept= 3
g =Hx -4 U=6x¥d
12) through: (=1, —1), slope =5

11) through: (4, —4), slope———3~

& u--4-HxD Gz =1 % S Q)

13) through: (0, -1), slope=-1 T slope-i
Y=l =X 3-2*9-0%\

15) through: (0,2)and (1,2) Y™ —Qr O 16) through: (0,—4)and (4,5) ™™= T4

&7 g2 oD Y= S x E(%)

17) through: (-2, 0)and (2,2) Y= ?:T & }7; 18) through: (0, —4) and (1,-5) ¥n= :}_4 -
Y=L v 51 Y= -S -V

Write the slope-intercept form of the eLon of each line.

19) 8x — 7y =—41 3 -tX A3 = 20) x+2y=-10 - =\ )\-—S'

21) 4x+7y=—4 3’:—."—"}')&“' \ 22) 2x+y=-2 tj-:.—*’zx ,-2_

—-2= = 3«’/2»-
23)},_3:_%(“4)3’,'-_‘5‘)(;(\ ) y-2=20 Y 7K

@ 25 y-4--+9) Ld—' g alk 26) y+3=— —(x 5) 8 —-" "O\



